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Exercise

1.  is a G.P of 10 terms. Its 10th terms if:

A. 

B. 

C. 

D. 

Answer:

1, , , , ………………
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https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4fejUZieFE9S


Watch Video Solution

2. Which term of the sequences ,………….is 729?

A. 10th

B. 8th

C. 14th

D. 12th

Answer:

Watch Video Solution

√3, 3, 3√3

3. If a,b,c and in A.P, then  are in:

A. A.P

B. G.P

xa, xb, xc

https://dl.doubtnut.com/l/_4fejUZieFE9S
https://dl.doubtnut.com/l/_Cr1tJ2olIyLj
https://dl.doubtnut.com/l/_pcclpezDUpIO


C. H.P.

D. None of these

Answer:

Watch Video Solution

4. The sum of the first n odd number is :

A. 2n

B. 

C. 

D. 

Answer:

Watch Video Solution

n2

n(n + 1)

2

n(n + 1)

2

https://dl.doubtnut.com/l/_pcclpezDUpIO
https://dl.doubtnut.com/l/_iSHvnmfl2flZ
https://dl.doubtnut.com/l/_i0LdFlXXrHfE


5. The sum of first 30 natural numbers is:

A. 465

B. 900

C. 930

D. None of these

Answer:

Watch Video Solution

6. If  term of an A.P. is m and (p-q)th term is n, then the pth

term is:

A. 

B. mn

C. 

D. 

(p + q)th

(m − n)
1

2

√mn

(m + n)
1

2

https://dl.doubtnut.com/l/_i0LdFlXXrHfE
https://dl.doubtnut.com/l/_eCvHOjiWw66e


Answer:

Watch Video Solution

7. If 100 times the 100 th term of an A.P with non- zero common

difference equals the 50 times its 50th term,then the 150th term of

this A.P is 

a. 150 times its 50th term

b. 

c. 

d. 

A. 0

B. 150

C. -150

D. None of these

Answer:

150

0

−150

https://dl.doubtnut.com/l/_eCvHOjiWw66e
https://dl.doubtnut.com/l/_kTPYfTeG9R1v


Watch Video Solution

8. If the A.M of two numbers is 9 and G.M is 4, then these numbers are

roots of the equation:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 − 18x − 16 = 0

x2 − 18x + 16 = 0

x2 − 16x + 18 = 0

x2 + 16x − 18 = 0

9. If second term of a GP. is 2 and the sum of its infinte terms is 8, then

its first term is

https://dl.doubtnut.com/l/_kTPYfTeG9R1v
https://dl.doubtnut.com/l/_8haS7Pf1saDL
https://dl.doubtnut.com/l/_JTpAV2dAM99t


A. 4

B. -4

C. 2

D. -2

Answer:

Watch Video Solution

10. If the pth,term of an A.P. is q and the qth is p, then the rth term is

A. P+q+r

B. p-q+r

C. p-q+r

D. p+q-r

Answer:

https://dl.doubtnut.com/l/_JTpAV2dAM99t
https://dl.doubtnut.com/l/_SNv89QaZWqsC


Watch Video Solution

11. Three numbers a,b and c are in the A.P if

Watch Video Solution

12. G.M of 8 and 18 is:

A. 13

B. 26

C. 10

D. 12

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_SNv89QaZWqsC
https://dl.doubtnut.com/l/_2vMm5hRMgq1X
https://dl.doubtnut.com/l/_6OpmrvATDhin


13. If 1+2+3+……………+n=45, then  is:

A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

13 + 23 + 33 + ………… + n3

(45)2

(45)3

(45)4

14. If ,  are two G.M's between two numbers a and b, then 

 is equal to:

A. ab

B. a+b

C. 

g1 g2

+
g2

1

g2

g2
2

g1

a + b

ab

https://dl.doubtnut.com/l/_uKavAqUwTkh6
https://dl.doubtnut.com/l/_GFo3vYkBAAOE


D. None of these

Answer:

Watch Video Solution

15. If the sum of n terms of an A.P. is given by , then the

common difference of an A.P. is

A. 4

B. 3

C. 2

D. None of these

Answer:

Watch Video Solution

δn = 3n + 2n2

https://dl.doubtnut.com/l/_GFo3vYkBAAOE
https://dl.doubtnut.com/l/_uGwR1m6tgHka


16. Which term of the sequences 8-6i, 7-4i, 6-2i, …………….is a real number?

A. 7th

B. 6th

C. 5th

D. 4th

Answer:

Watch Video Solution

17. If the sum of first n even natural numbers is equal to k times the

sum of first n odd natural numbers, then k is equal to:

A. 

B. 

C. 

n + 1

2

n + 1

2n

1

n

https://dl.doubtnut.com/l/_MNho4pHcfzIc
https://dl.doubtnut.com/l/_A4ClkEGpBWh6


D. None of these

Answer:

Watch Video Solution

18. If , then  is equal to:

A. 2870

B. 2670

C. 2570

D. None of these

Answer:

Watch Video Solution

∑n = 210 ∑n2

https://dl.doubtnut.com/l/_A4ClkEGpBWh6
https://dl.doubtnut.com/l/_IBOWNggF8g4d


19. If 7th and 13th terms of an A.P. be 34 and 64 respectively, then its

18th term is:

A. 87

B. 88

C. 89

D. None of these

Answer:

Watch Video Solution

20. The nth term of a G.P. is 128 and the sum of its n terms is 225. If its

common ratio is 2, then its first term is:

A. 1

B. 2

https://dl.doubtnut.com/l/_In3t4MkUlWE7
https://dl.doubtnut.com/l/_wQ2bsQBubTSR


C. 3

D. None of these

Answer:

Watch Video Solution

21. The value of  is:

A. 15

B. 20

C. 25

D. None of these

Answer:

Watch Video Solution

5

∑
1

(n)

https://dl.doubtnut.com/l/_wQ2bsQBubTSR
https://dl.doubtnut.com/l/_riDe2sz17euG
https://dl.doubtnut.com/l/_o2wHjyUOIsgJ


22. Angles A,B and C of a  are in  then  is

equal to

A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

ΔABC AP . If = ,
b

c

√3

√2
∠A

75∘

60∘

45∘

23. Two positive numbers whose difference is 12 and whose A.M.

exceeds the G.M by 2 are:

A. 16, 4

B. 12, 3

https://dl.doubtnut.com/l/_o2wHjyUOIsgJ
https://dl.doubtnut.com/l/_OHDzSDDI1nl9


C. 9,6

D. None of these

Answer:

Watch Video Solution

24. The product  is equal to:

A. 8

B. 32

C. 64

D. None of these

Answer:

Watch Video Solution

(32), (32)1 / 6(32)1 / 36…. . ∞

https://dl.doubtnut.com/l/_OHDzSDDI1nl9
https://dl.doubtnut.com/l/_b8RBL11kqHWe
https://dl.doubtnut.com/l/_L7YoJqv8BZuT


25. The G.M. between -2i and 8i is:

A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

±2

±4

±4i

26. If the ratio of A.M and G.M between two numbers is 5:3, then the

ratio of two numbers is:

A. 

B. 

C. 

D. None of these

3: 1

1: 3

1: 9

https://dl.doubtnut.com/l/_L7YoJqv8BZuT
https://dl.doubtnut.com/l/_WJHc0j3jkwoN


Answer:

Watch Video Solution

27. If a, b,c are in G.P, then log a, log b, log c are:

A. A.P.

B. G.P.

C. not in A.P

D. None of these

Answer:

Watch Video Solution

28. Find the sum to n terms of the series

.12 + 32 + 52 + ....  upto n terms 

https://dl.doubtnut.com/l/_WJHc0j3jkwoN
https://dl.doubtnut.com/l/_Ij402ry9crny
https://dl.doubtnut.com/l/_VtYKOoxaUfzy


A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

(4n2 + 1)
n

3

(4n2 − 5)
n

3

(4n2 − 1)
n

3

29. The sum of the series is  is:

A. 

B. 

C. 

D. None of these

Answer:

1 + + + + …………∞
4
5

7

52

10

53

23

16

35

16

16

35

https://dl.doubtnut.com/l/_VtYKOoxaUfzy
https://dl.doubtnut.com/l/_2fEOdGO9CR52


Example

Watch Video Solution

30. The sum of the series  is:

A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

1 + 3x + 6x2 + 10x3 + …………. ∞

1

(x − 1)3

1

(1 − x)2

1

(x − 3)
2

1. Insert five numbers between 8 and 26 such that the resulting

sequence is an A.P.

https://dl.doubtnut.com/l/_2fEOdGO9CR52
https://dl.doubtnut.com/l/_ypbrdm8KOqSr
https://dl.doubtnut.com/l/_En7LtpxKukGQ


Watch Video Solution

2. Find the indicated terms of the sequences given below whose nth

terms are: 

Watch Video Solution

an = , a20
n(n − 2)

n + 3

3. Find the indicated terms of the sequences given below whose nth

terms are: 

Watch Video Solution

an = ( − 1)
n − 1

n3, a9

4. First term of a sequence is 1 and the  term is obtained by

adding  to the nth term for all natural numbers n, the 6th term

of the sequence is

Watch Video Solution

(n + 1)th

(n + 1)

https://dl.doubtnut.com/l/_En7LtpxKukGQ
https://dl.doubtnut.com/l/_QFNEFcyedCOr
https://dl.doubtnut.com/l/_vqKr7LBHOKub
https://dl.doubtnut.com/l/_mWX5INjvRWo1
https://dl.doubtnut.com/l/_2G2ZfKykFNnZ


5. Show that the sequence whose  term is  is not an A.P.

Watch Video Solution

nth 2n2 + n + 1

6. Determine k so that k+2, 4k-6 and 3k-2 are three consecutive terms of

an A.P.

Watch Video Solution

7. Show that the sum of  and  terms of an A.P. is

equal to twice the  term.

Watch Video Solution

(m + n)
th

(m − n)
th

mth

8. Find the sum of all two digit numbers which when divided by 4,

yields 1 as remainder.

Watch Video Solution

https://dl.doubtnut.com/l/_2G2ZfKykFNnZ
https://dl.doubtnut.com/l/_8AivRxf1mJ4s
https://dl.doubtnut.com/l/_oz8WPM25JNMc
https://dl.doubtnut.com/l/_nMzFfgUaRIbG


Watch Video Solution

9. If the lengths of the sides of a right angled triangle are in A.P., then

show that their ratio is 3:4:5.

Watch Video Solution

10. Which term of the following sequence:- ,....is 729?

Watch Video Solution

√3, 3, 3√3

11. Find the 10th term of a G.P. whose 8th term is 192 and the common

ratio is 2.

Watch Video Solution

https://dl.doubtnut.com/l/_nMzFfgUaRIbG
https://dl.doubtnut.com/l/_TpSUUXmAz1wC
https://dl.doubtnut.com/l/_khaX7jHE9Rso
https://dl.doubtnut.com/l/_HycCpSjZwP7w


12. The 5th, 8th and 11th terms of a G.P. are p, q and x, respectively.

Show that .

Watch Video Solution

q2 = ps

13. If the 4th, 10th and 16th terms of a G.P. are x, y and z, respectively.

Prove that x, y, z are in G.P.

Watch Video Solution

14. If A.M. and G.M of roots of a quadratic equations are 6 and 5

respectively, then obtain the quadratic equation.

Watch Video Solution

15. Prove that

× × ............ = 3
1

32

1

34

1

38

https://dl.doubtnut.com/l/_qbqrUemeN9wk
https://dl.doubtnut.com/l/_DN7BjnjSbRd0
https://dl.doubtnut.com/l/_gvpHLgI53ekD
https://dl.doubtnut.com/l/_DyVchaGfonDi


Watch Video Solution

16. Prove that

Watch Video Solution

× × ……………. . = 8
1

43

1

49

1

427

17. Find the sum of n terms of the series whose nth term is given by

Watch Video Solution

n2 + 2n

18. A man starts repaying a loan as first instalment of Rs. 100. If he

increases the instalment by Rs 5 every month, what amount he will pay

in the 30th instalment?

Watch Video Solution

https://dl.doubtnut.com/l/_DyVchaGfonDi
https://dl.doubtnut.com/l/_vhILIYr4FE53
https://dl.doubtnut.com/l/_zFMkHWd5DGCy
https://dl.doubtnut.com/l/_eIWvlgTZspPm


19. Find the sum of first n terms of an A.P. whose nth term is 3n+1.

Watch Video Solution

20. If 3rd term of a G.P. is 324 and 7th term is 64, then find the 10th

term.

Watch Video Solution

21. How many terms of G.P. 3, , , ... are needed to give the sum 120?

Watch Video Solution

32 33

22. If m times the mth term is equal to n times the nth term of an A.P.

prove that(m+n)th term of an A.P. is zero.

Watch Video Solution

https://dl.doubtnut.com/l/_0rxe1lEqi3mh
https://dl.doubtnut.com/l/_dpfGeNdyiaC5
https://dl.doubtnut.com/l/_bSVQrjqrxIC4
https://dl.doubtnut.com/l/_TBqDVtqc4k4U


23. If the pth, qth and rth terms of an A.P. be x,y,z repsectively, then

show that : 

Watch Video Solution

x(q − r) + y(r − p) + z(p − q) = 0

24. In an A.P., the first term is 2 and the sum of the first five terms is

one-fourth of the next five terms. Show that 20th term is -112.

Watch Video Solution

25. Find the sum of all natural numbers lying between 100 and 1000,

which are multiples of 5.

Watch Video Solution

26. Let the sum of n, 2n, 3n terms of an A.P. be ,  and ,

respectively, show that 

S1 S2 S3

S3 = 3(S2 − S1)

https://dl.doubtnut.com/l/_8t9IiflRDDWX
https://dl.doubtnut.com/l/_hrlc35qyNQ3t
https://dl.doubtnut.com/l/_AfnLFEStCDYC
https://dl.doubtnut.com/l/_mDwS3fu7wPKj


Watch Video Solution

27. The sums of n terms of two arithmetic progressions are in the ratio

. Find the ratio of their 18th terms.

Watch Video Solution

5n + 4: 9n + 6

28. Prove that the sum of n arithmetic means between two numbers is

n times the single A.M. between them.

Watch Video Solution

29. The digits of a positive integer having three digits are in AP and

their sum is 15. The number obtained by reversing the digits is 594 less

then the original number. Find the number.

Watch Video Solution

https://dl.doubtnut.com/l/_mDwS3fu7wPKj
https://dl.doubtnut.com/l/_C0mpTThdmB68
https://dl.doubtnut.com/l/_EvrTnJLpN9X0
https://dl.doubtnut.com/l/_5ZClKMFKPDQJ


30. If the first and the nth terms of a GP are a and b respectively and if

P is the product of the first n terms, then  is equal to

Watch Video Solution

P 2

31. How many terms of the series …... will make the

sum ?

Watch Video Solution

√3 + 3 + 3√3 +

39 + 13√3

32. Find the sum of n terms of the following sequences:

8+88+888+……………..up to n terms.

Watch Video Solution

33. The A.M. between two positive numbers is 34 and their G.M. is 16.

find the numbers.

https://dl.doubtnut.com/l/_3jnVoAoptrBN
https://dl.doubtnut.com/l/_kOJ3V8ujcRO2
https://dl.doubtnut.com/l/_d2mEZcJE1NSm
https://dl.doubtnut.com/l/_NYQeW1EaXwld


Watch Video Solution

34. If a be the A.M. and x, y be the two G.M's between b and c, show

that

.

Watch Video Solution

x3 + y3 = 2abc

35. The sum of three numbers which are consecutive terms of an A.P. is

21. If the second number is reduced by 1 and the third is increased by 1,

we obtain three consecutive terms of a G.P. Find the numbers.

Watch Video Solution

36. If a,b,c are in A.P. and x,y,z are in G.P., then show that

.

Watch Video Solution

xb − c. y(c − a). z(a − b) = 1

https://dl.doubtnut.com/l/_NYQeW1EaXwld
https://dl.doubtnut.com/l/_JCZFtXM7hQax
https://dl.doubtnut.com/l/_Oe2GfETZS9cQ
https://dl.doubtnut.com/l/_j7uawW3RLeP9


37. Find a G.P. for which sum of the first two terms is -4 and the fifth

term is 4 times the third term.

Watch Video Solution

38. The sum of an inifinite G.P. is 8. If the second term is 2, then find the

first term and the series.

Watch Video Solution

39. Find the sum to n terms of the series

Watch Video Solution

3 × 8 + 6 × 11 + 9 × 14 + …

https://dl.doubtnut.com/l/_j7uawW3RLeP9
https://dl.doubtnut.com/l/_o16aJeC3wx1z
https://dl.doubtnut.com/l/_aR6WOgxea4II
https://dl.doubtnut.com/l/_pJ7TwOYDngV4


40. Find the sum of the series

also, find the coefficient of  in th cxpansion of 

.

Watch Video Solution

1 ⋅ n + 2 ⋅ (n − 1) + 3 ⋅ (n − 2) + 4 ⋅ (n − 3) + ... + (n − 1) ⋅ 2 + n ⋅ 1

xn − 1

(1 + 2x + 3x2 + ....nxn − 1)
2

41. The difference between any two consecutive interior angles of a

polygon is . If the smallest angle is , find the number of the

sides of the polygon.

Watch Video Solution

5∘ 120∘

42. A manufacturer reckons that the value of a machine, which costs

him Rs. 15625, will depreciate each year by 20%. Find the estimated

value at the end of 5 years.

Watch Video Solution

https://dl.doubtnut.com/l/_ieawIPcB4Po1
https://dl.doubtnut.com/l/_SHLiSrRjKRxI
https://dl.doubtnut.com/l/_lBiRu8Ffhfu7


43. If A.M and G.M of two positive numbers are 13 and 12 respectively.

Find the numbers.

Watch Video Solution

44. Find the sum of integers from 1 to 100 that are divisible by 2 or 5.

Watch Video Solution

45. The ratio of the sums of m and n terms of an A.P. is . Show

that the ratio of  and  term is (2m - 1 ) : (2n -1).

Watch Video Solution

m2 : n2

mth nth

46. If  are in A.P. Prove that  are also in

A.P.

a2, b2, c2 , ,
a

b + c

b

c + a

c

a + b

https://dl.doubtnut.com/l/_lBiRu8Ffhfu7
https://dl.doubtnut.com/l/_lTBbVTscZYMk
https://dl.doubtnut.com/l/_NIhmYAh635nc
https://dl.doubtnut.com/l/_OQWpy40knPSz
https://dl.doubtnut.com/l/_aV8pD11LHx3p


Watch Video Solution

47. If be respectively the sum of n, 2n and 3n terms of a GP,

then  is equal to

Watch Video Solution

S1, S2, S3

S1(S3 − S2)

(S2 − S1)2

48. Let S be the sum, P the product and R the sum of reciprocals of n

terms in a G.P. Prove that .

Watch Video Solution

P 2Rn = Sn

49. Let S be the sum, P the product and R the sum of reciprocals of n

terms in a G.P. Prove that .

Watch Video Solution

P 2Rn = Sn

https://dl.doubtnut.com/l/_aV8pD11LHx3p
https://dl.doubtnut.com/l/_QKXRu6XJHcUn
https://dl.doubtnut.com/l/_NFElGhcebQaN
https://dl.doubtnut.com/l/_6hX71nsVykBa
https://dl.doubtnut.com/l/_Swby1jRJs5ti


50. The sum of two numbers is 6 times their geometric mean, show

that numbers are in the ratio .

Watch Video Solution

(3 + 2√2) : (3 − 2√2)

51. The sum of two numbers is 6 times their geometric mean, show that

numbers are in the ratio .

Watch Video Solution

(3 + 2√2) : (3 − 2√2)

52. The sum of three numbers in G.P. is 56. If we subtract 1, 7, 21 from

these numbers in that order, we obtain an arithmetic progression. Find

the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_Swby1jRJs5ti
https://dl.doubtnut.com/l/_ojxNQ5d6raL6
https://dl.doubtnut.com/l/_4wthUEdDNE6V


53. If a,b,c are in G.P. and x,y are the arithmetic means of a,b and b,c

respectively. Then prove that

 and .

Watch Video Solution

+ = 2
a

x

c

y
+ =

1

x

1

y

2

b

54. Find the sum of first n terms of the series. 

……..

Watch Video Solution

3 + 7 + 13 + 21 + 31 +

https://dl.doubtnut.com/l/_dV6uKbgzf3K4
https://dl.doubtnut.com/l/_cwdSxx5ZT2kn

